
L3(7) (mod 3)

blocks defect matrix

3.G : 1 3 16× 5
2 2 9× 2
3 1 3× 1

4 = 3 1 3× 1
5 1 3× 1

6 = 5 1 3× 1
7 1 3× 1

8 = 7 1 3× 1

blocks defect matrix

9 1 3× 1
10 1 3× 1
11 1 3× 1
12 1 3× 1

13 = 12 1 3× 1
14 1 3× 1

15 = 14 1 3× 1

Block 1: ϕ1 ϕ2 ϕ4 ϕ5 ϕ6

11 = χ1 1 . . . .
561 = χ2 1 1 . . .
1521 = χ4 1 1 1 . .
1522 = χ5 1 1 . 1 .
1523 = χ6 1 1 . . 1
3431 = χ20 . 1 1 1 1

572 = χ23 2 1 . . .
573 = χ∗2

23 2 1 . . .
961 = χ25 . . 1 . .
962 = χ∗2

25 . . 1 . .
963 = χ26 . . . 1 .
964 = χ∗2

26 . . . 1 .
965 = χ27 . . . . 1
966 = χ∗2

27 . . . . 1
3992 = χ41 1 2 1 1 1
3993 = χ∗2

41 1 2 1 1 1

ϕ1 = 11
ϕ2 = 551
ϕ4 = 961
ϕ5 = 962
ϕ6 = 963



Block 2: ϕ3 ϕ20

571 = χ3 1 .
3991 = χ21 . 1
4561 = χ22 1 1

574 = χ24 1 .
575 = χ∗2

24 1 .
3994 = χ42 . 1
3995 = χ∗2

42 . 1
4562 = χ43 1 1
4563 = χ∗2

43 1 1

ϕ3 = 571
ϕ20 = 3991

Block 3: ϕ7

2881 = χ7 1

2887 = χ28 1
2888 = χ∗20

28 1

ϕ7 = 2881

Block 4: ϕ8

2882 = χ8 1

2889 = χ29 1
28810 = χ∗20

29 1

ϕ8 = 2882

Block 5: ϕ9

2883 = χ9 1

28811 = χ30 1
28812 = χ∗20

30 1

ϕ9 = 2883

Block 6: ϕ10

2884 = χ10 1

28813 = χ31 1
28814 = χ∗20

31 1

ϕ10 = 2884



Block 7: ϕ11

2885 = χ11 1

28815 = χ32 1
28816 = χ∗20

32 1

ϕ11 = 2885

Block 8: ϕ12

2886 = χ12 1

28817 = χ33 1
28818 = χ∗20

33 1

ϕ12 = 2886

Block 9: ϕ13

3421 = χ13 1

3428 = χ34 1
3429 = χ∗2

34 1

ϕ13 = 3421

Block 10: ϕ14

3422 = χ14 1

34210 = χ35 1
34211 = χ∗17

35 1

ϕ14 = 3422

Block 11: ϕ15

3423 = χ15 1

34212 = χ36 1
34213 = χ∗17

36 1

ϕ15 = 3423



Block 12: ϕ16

3424 = χ16 1

34214 = χ37 1
34215 = χ∗17

37 1

ϕ16 = 3424

Block 13: ϕ17

3425 = χ17 1

34216 = χ38 1
34217 = χ∗17

38 1

ϕ17 = 3425

Block 14: ϕ18

3426 = χ18 1

34218 = χ39 1
34219 = χ∗17

39 1

ϕ18 = 3426

Block 15: ϕ19

3427 = χ19 1

34220 = χ40 1
34221 = χ∗17

40 1

ϕ19 = 3427


